
basis
1
2

consensus
1
2

silhouette
0.98

−0.5

0

0.2

0.4

0.6

0.8

1 basis
1
2
3

consensus
1
2
3

silhouette
0.9

−0.630

0.2

0.4

0.6

0.8

1 basis
1
2
3
4

consensus
1
2
3
4

silhouette
0.77

−0.33
0

0.2

0.4

0.6

0.8

1

basis
1
2
3
4
5

consensus
1
2
3
4
5

silhouette
0.85

−0.47

0

0.2

0.4

0.6

0.8

1 basis
1
2
3
4
5
6

consensus
1
2
3
4
5
6

silhouette
0.78

−0.33

0

0.2

0.4

0.6

0.8

1 basis
1
2
3
4
5
6
7

consensus
1
2
3
4
5
6
7

silhouette
0.87

−0.33

0

0.2

0.4

0.6

0.8

1

basis
1
2
3
4
5
6
7
8

consensus
1
2
3
4
5
6
7
8

silhouette
0.82

−0.44

0

0.2

0.4

0.6

0.8

1 basis
1
2
3
4
5
6
7
8
9

consensus
1
2
3
4
5
6
7
8
9

silhouette
0.87

−0.38

0

0.2

0.4

0.6

0.8

1 basis
1
2
3
4
5
6
7
8
9
10

consensus
1
2
3
4
5
6
7
8
9
10

silhouette
0.76

−0.33

0

0.2

0.4

0.6

0.8

1

residuals rss silhouettedispersion evar

2 3 4 5 6 7 8 9 10 2 3 4 5 6 7 8 9 10 2 3 4 5 6 7 8 9 102 3 4 5 6 7 8 9 10 2 3 4 5 6 7 8 9 10
0.982

0.984

0.986

0.988

0.990

0.4

0.6

0.8

1.0

0.5

0.6

0.7

0.8

80

90

100

110

120

100

150

200

Measure type

Basis

Best fit

Coefficients

Consensus

A

B


